

Sema # 2

$$1) (-1200) \div (-16) = +75$$

$$\begin{array}{r} 75 \\ 16 \overline{) 1200} \\ \underline{-112} \\ -80 \\ 16 \overline{) 80} \\ \underline{-16} \\ - \end{array}$$

$$2) (+90) \div (+9) = +1$$

$$\begin{array}{r} 1 \\ 9 \overline{) 90} \\ \underline{9} \\ - \end{array}$$

$$3) (+792) \div (-33) = -24$$

$$\begin{array}{r} 24 \\ 33 \overline{) 792} \\ \underline{66} \\ 132 \\ \underline{122} \\ -10 \end{array}$$

$$4) (-24,500) \div (-356) = +7$$

$$\begin{array}{r} ^3 \\ 3\ 5\ 6 \overline{) 1\ 5\ 5} \\ \underline{9\ 5\ 6} \\ -8\ 9 \end{array}$$

$$5) (-64) \div (-76) = +24$$

$$\begin{array}{r} 2 4 \\ 76 \overline{) 764} \\ \underline{76} \\ 04 \\ \underline{04} \\ 00 \end{array}$$

$$b) (-20) \cdot (-2) - \frac{+60}{-12} = 7 + 3 = 10$$

$$\begin{array}{r} 7 \\ 2 \overline{) 22} \\ \underline{22} \\ 0 \end{array}$$

$$7) \frac{(-75)(-2)}{(-2)(-1)} \cdot (-1) =$$

$$8) \frac{(-20) + (-50) + (-10) + [(-3)(-2)]}{(-5)(-8)}$$

$$9) \frac{-75}{+5} + (-8) = -3 + (-8) = -11$$

$$10 \quad (C+2) [(C-4) (C-8) (C+5)]$$